
 

 

ACTIVITIES TRIGONOMETRY 

1. Construct 3 different right angled triangles of your own measures. Measure the 

length of all sides. Find the values of all trigonometric ratios for each triangle. 

Rubrics 

1. Accuracy in constructing triangles and measure of sides.   (3m) 

2. Finding values of trigonometric ratios related to triangle 1.    (3m) 

3. Finding values of trigonometric ratios related to triangle 2.    (3m) 

4. Finding values of trigonometric ratios related to triangle 3.    (3m) 

5. Participating in discussion / presentation.       (3m) 

2.  Construct 3 different Right angled triangles of your own measurements in which 

300, 450, 600 is one angle. Measure the length of all sides. Find the values of all 

trigonometric ratios for each triangle. Compare it with the values in the table of 

trigonometric ratios. 

Rubrics 

1. Constructing Right angled triangle with one angle 300 and finding the value of all 

trigonometric ratios.          (3m) 

2. Constructing Right angled triangle with one angle 450 and finding the value of all 

trigonometric ratios.          (3m) 

3. Constructing Right angled triangle with one angle 600 and finding the value of all 

trigonometric ratios.          (3m) 

4. Does the values obtained in the above three situations will match with that in the 

standard table.           (3m) 

5. participating in discussion / presentation.       (3m) 

3. Using the measures of sides of the given triangle prove the given equations 

numerically. 

Ex.   sin2θ+ cos2θ =1 
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1. sec2θ -  tan2θ =1 

2. cosec2θ -  cot2θ =1 

3. 
1+tan2θ

1+cot2θ
 =tan2θ 

      4.  (sec θ + tanθ) (1 -1 sin θ) = cos θ 

      5. 2 sin θ . cos θ =1 

Rubrics 

1.  Proof of sec2θ - tan2θ =1        (3m) 

2. Proof of cosec2θ -  cot2θ =1       (3m) 

3. Proof of 
1+tan2θ

1+cot2θ
 =tan2θ        (3m) 

4. Proof of  (sec θ +tanθ) (1 -1 sin θ) = cos θ     (3m) 

5. Proof of 2 sin θ . cos θ =1       (3m) 

4. Prove the equations using standard angles of trigonometry. 

Ex:- sec2θ = 1+ tan2θ ( Let here θ be  300) 

L.H.S = sec2θ 

 = sec2 300 

 =( 
2

√3
 )2 

 =
4

3
 

R.H.S = 1+ tan2θ 

 = 1+ tan2300 

 = 1+ ( 
1

√3
 )2 

 = 1+ 
1

3
 

 = 
4

3
  

L.H.S = R.H.S 

1. Cosec2θ – 1 = cot2θ 

2. 1 - sin2θ = cos2θ 

3. ( sec θ + tan θ)(1 – sinθ) = cos θ 



 

 

4. 2sin θ.cos θ=1 

5. (1+ cot2θ)( tan2θ) = 1 + tan2θ 

Rubrics 

1. Proof of Cosec2θ – 1 = cot2θ        (3m) 

2. Proof of 1 - sin2θ = cos2θ        (3m) 

3. Proof of( sec θ + tan θ)(1 – sinθ) = cos θ     (3m) 

4. Proof of  2sin θ.cos θ=1        (3m) 

5. Proof of (1+ cot2θ)( tan2θ) = 1 + tan2θ      (3m) 

5.  Find the measures of remaining sides of the given triangles using Pythagoras 

theorem. Find the values of all trigonometric ratios separately for triangles ABD, 

ACD, PQS and PSR. 

 

 

 

 

 

 

 

Rubrics 

1. Finding the measures of remaining sides using Pythagoras theorem.  (4m) 

2. Finding the values of Trigonometric ratios for Triangles ABD and ACD.  (4m) 

3. Finding the values of Trigonometric ratios for Triangles PQS and PRS.  (4m) 

4. Participating in discussion / presentation.       (3m) 

6. 1.  Fill the cells of the below table with reference to the given triangle. 
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Table - 1 

tan2A= sin2C= 9cos2A= 2sinA= 

1+cos2C= 1 - sin2A= 3cot3A= sec2A= 

SinA x cos C= sin2A x cos2C = cosec2A=                  √5  

cosA= 

tanA x cotC= 4cosec2A= tan2A= 3cotA= 

 

2. Fill the following table with reference to the given triangle. 

 

 

 

      

Table - 2 

sin2A= 2tanA= 𝑠𝑖𝑛2A

cos2𝐶
= 1+ cosec2A = 

3sin2A= cot2A= 1 – cot2A= 1 + sin A

1 − 𝑠𝑖𝑛 𝐴
 

cos2A= 3cot2A= 1 - 
sin A

𝑐𝑜𝑠 𝐴
 = sin2A + cos2A = 

tan2A= 𝑐𝑜𝑠2C

cot2𝐴
= 

cos A

𝑡𝑎𝑛 𝐶
 = cosec2 C = 

  

3.  Fill the below table with suitable value.  

                                      Table - 3 

sin2600= Cot 00xtan900= Sin300 + Sin600= 3sin2450= 

2 - cos2900= Sin3300= sin600

𝑐𝑜𝑠 300
 

Cosec450 - 

cot2600= 

sinA x cosC= 1 – tan450= cot3450 = sin2600

𝑐𝑜𝑠2 600
 

tanA x cotC= 1−𝑠𝑖𝑛230

1−𝑐𝑜𝑠230
 = cosec290 = tan2450= 
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Rubrics 

1. Accuracy in filling the cells in table 1.     (3m) 

2. Accuracy in filling the cells in table 2.     (3m) 

3. Accuracy in filling the cells in table 3.     (3m) 

4. Calculation work sheet to examine their own ness.     (3m) 

5. Following all steps clearly, participating in discussion / presentation.  (3m) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

ಚಟುವಟಿಕೆಗಳು ತ್ರಿಕೆ ೋನಮಿತ್ರ 

1. ನಿಮ್ಮದೆೋ ಅಳತೆಯ ಮ್ ರು ವಿಭಿನನ ಲಂಬಕೆ ೋನ ತ್ರಿಭುಜಗಳನುನ ರಚಿಸಿ. ಎಲ್ಲಾ ಬಲಹುಗಳ ಉದ್ದಗಳನುನ 

ಅಳತೆ ಮಲಡಿ. ಪ್ಿತ್ರ ತ್ರಿಭುಜಕೆೆ ಸಂಬಂದಿಸಿದ್ಂತೆ ಎಲ್ಲಾ ತ್ರಿಕೆ ೋನಮಿತ್ರಯ ಅನುಪಲತಗಳ ಬೆಲ್ೆಗಳನುನ 

ಕಂಡುಹಿಡಿಯಿರಿ.  

ಮಾನಕಗಳು 

1. ತ್ರಿಭುಜಗಳ ರಚನೆ ಮತ್ುು ಬಾಹುಗಳ ಅಳತೆಯಲ್ಲಿನ ನಿಖರತೆ.    (3m) 

2. ತ್ರಿಭುಜ-1 ಕ್ೆೆ ತ್ರಿಕ್ೆ ೋನಮಿತ್ರ ಅನುಪಾತ್ಗಳ ಬೆಲೆ ಕಂಡುಹಿಡಿಯುವಿಕ್ೆ.    (3m) 

3. ತ್ರಿಭುಜ-2 ಕ್ೆೆ ತ್ರಿಕ್ೆ ೋನಮಿತ್ರ ಅನುಪಾತ್ಗಳ ಬೆಲೆ ಕಂಡುಹಿಡಿಯುವಿಕ್ೆ .    (3m) 

4 ತ್ರಿಭುಜ-3 ಕ್ೆೆ ತ್ರಿಕ್ೆ ೋನಮಿತ್ರ ಅನುಪಾತ್ಗಳ ಬೆಲೆ ಕಂಡುಹಿಡಿಯುವಿಕ್ೆ.    (3m) 

5. ಚರ್ೆೆ ಅಥವಾ ಮಂಡನೆಯಲ್ಲಿ ಭಾಗವಹಿಸುವಿಕ್ೆ.       (3m) 

2.  300, 450, 600 ಯನುನ ಒಂದೆ ಂದ್ು ಕೆ ೋನವಲಗಿ ಹೆ ಂದಿರುವ ನಿಮ್ಮದೆೋ ಅಳತೆಯ ಮ್ ರು ಪ್ಿತೆಯೋಕ 

ಲಂಬಕೆ ೋನ ತ್ರಿಭುಜಗಳನುನ ರಚಿಸಿ. ಪ್ಿತ್ರೋ ತ್ರಿಭುಜದ್ ಎಲ್ಲಾ ಬಲಹುಗಳ ಉದ್ದ ಅಳತೆ ಮಲಡಿ. ಪ್ಿತ್ರೋ 

ತ್ರಿಭುಜಕೆೆ ಸಂಬಂದಿಸಿದ್ಂತೆ ಎಲ್ಲಾ ತ್ರಿಕೆ ೋನಮಿತ್ರಯ ಅನುಪಲತಗಳ ಬೆಲ್ೆಯನುನ ಕಂಡುಹಿಡಿದ್ು, 

ತ್ರಿಕೆ ೋನಮಿತ್ರಯ ಅನುಪಲತಗಳ ಕೆ ೋಷ್ಟಕದ್ಲ್ಲಾ ಬೆಲ್ೆಗಳ ೆಂದಿಗೆ ತಲಳ  ೆನೆ ೋಡಿ. 

ಮಾನಕಗಳು 

1. ಒಂದು ಕ್ೆ ೋನ  300 ಇರುವಂತೆ ಲಂಬಕ್ೆ ೋನ ತ್ರಿಭುಜದ ರಚನೆ, ತ್ರಿಕ್ೆ ೋನಮಿತ್ರ ಅನುಪಾತ್ಗಳ ಬೆಲೆ 

ಕಂಡುಹಿಡಿಯುವಿಕ್ೆ .           (3m) 

2. ಒಂದು ಕ್ೆ ೋನ  450 ಇರುವಂತೆ ಲಂಬಕ್ೆ ೋನ ತ್ರಿಭುಜದ ರಚನೆ, ತ್ರಿಕ್ೆ ೋನಮಿತ್ರ ಅನುಪಾತ್ಗಳ ಬೆಲೆ 

ಕಂಡುಹಿಡಿಯುವಿಕ್ೆ .           (3m) 

3 ಒಂದು ಕ್ೆ ೋನ 600 ಇರುವಂತೆ ಲಂಬಕ್ೆ ೋನ ತ್ರಿಭುಜದ ರಚನೆ, ತ್ರಿಕ್ೆ ೋನಮಿತ್ರ ಅನುಪಾತ್ಗಳ ಬೆಲೆ 

ಕಂಡುಹಿಡಿಯುವಿಕ್ೆ .           (3m) 



 

 

4. ಮೋಲ್ಲನ ಮ ರು ಸಂದಭೆದಲ ಿ ತ್ರಿಕ್ೆ ೋನಮಿತ್ರ ಅನುಪಾತ್ಗಳ ಬೆಲೆಗಳು ಕ್ೆ ೋಷ್ಟಕದೆ ಂದಿಗೆ 

ತಾಳೆಯಾಗುತ್ರುವೆಯೋ .          (3m) 

5. ಚರ್ೆೆ ಅಥವಾ ಮಂಡನೆಯಲ್ಲಿ ಭಾಗವಹಿಸುವಿಕ್ೆ.       (3m) 

3. ಈ ತ್ರಿಭುಜದ್ಲ್ಲಾನ ಬಲಹುಗಳ ಅಳತೆಗಳನುನ ಬಳಸಿ ಕೆಳಗಿನ ಸಮಿೋಕರಣಗಳನುನ ಸಲಂಖ್ಯಯಕವಲಗಿ 

ಸಲಧಿಸಿ. 

ಉದಾಹರಣೆ:-  sin2θ+ cos2θ =1 

LHS= (
3

5
)2 + ( 

4

5
)2  

 =
9

25
 +

16

25
 =1 

LHS=1=RHS 

1. sec2θ -  tan2θ =1 

2. cosec2θ -  cot2θ =1 

3.  
1+tan2θ

1+cot2θ
 =tan2θ 

         4.  (sec θ +tanθ) (1 -1 sin θ) = cos θ 

         5. 2 sin θ . cos θ =1 

ಮಾನಕಗಳು 

1.   sec2θ -  tan2θ =1 ರ ಸಾಧನೆ       (3m) 

2.  cosec2θ -  cot2θ =1 ರ ಸಾಧನೆ        (3m) 

3. 
1+tan2θ

1+cot2θ
 =tan2θ ರ ಸಾಧನೆ         (3m) 

4. (sec θ +tanθ) (1 -1 sin θ) = cos θ ರ ಸಾಧನೆ      (3m) 

      5. Proof of 2 sin θ . cos θ =1 ರ ಸಾಧನೆ       (3m) 

4. ಈ ಕೆಳಗಿನ ಸಮಿೋಕರಣಗಳನುನ ತ್ರಿಕೆ ೋನಮಿತ್ರಯ ನಿದಿಿಷ್ಟ ಕೆ ೋನಗಳನುನ ಬಳಸಿ ಸಲಧಿಸಿ.. 

ಉದಾಹರಣೆ:- sec2θ = 1+ tan2θ ( Let here θ be  300) 

L.H.S = sec2θ 
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 = sec2 300 

 =( 
2
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 =
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R.H.S = 1+ tan2θ 

 = 1+ tan2300 

 = 1+ ( 
1

√3
 )2 

 = 1+ 
1

3
 

 = 
4

3
  

L.H.S = R.H.S 

1. Cosec2θ – 1 = cot2θ 

2. 1 - sin2θ = cos2θ 

3. ( sec θ + tan θ)(1 – sinθ) = cos θ 

4. 2sin θ.cos θ=1 

5. (1+ cot2θ)( tan2θ) = 1 + tan2θ 

 

ಮಾನಕಗಳು 

1. Cosec2θ – 1  = cot2θ ರ ಸಾಧನೆ        (3m) 

2. 1 - sin2θ = cos2θ ರ ಸಾಧನೆ         (3m) 

3. ( sec θ + tan θ)(1 – sinθ) = cos θ ರ ಸಾಧನೆ      (3m) 

4. 2sin θ.cos θ=1 ರ ಸಾಧನೆ         (3m) 

5.  (1+ cot2θ)( tan2θ) = 1 + tan2θ ರ ಸಾಧನೆ      (3m) 

 



 

 

5.ಕೆಳಗಿನ ತ್ರಿಭುಜಗಳಲ್ಲಾ ಉಳಿದ್ ಬಲಹುಗಳ ಅಳತೆಗಳನುನ ಪೆೈಥಲಗೆ ರಸ್‌ ಪ್ಿಮೋಯ ಬಳಸಿ ಲ್ೆಕ್ಕೆಸಿ. 

ನಂತರ ABD, ACD, PQS ಮ್ತುು PSR ತ್ರಿಭುಜಗಳಿಗೆ ಪ್ಿತೆಯೋಕವಲಗಿ ಎಲ್ಲಾ ತ್ರಿಕೆ ೋನಮಿತ್ರಯ 

ಅನುಪಲತಗಳ ಬೆಲ್ೆಗಳನುನ ಕಂಡುಹಿಡಿಯಿರಿ. 

 

 

 

 

 

 

ಮಾನಕಗಳು 

1. ಉ.ಳಿದ ಬಾಹುಗಳ ಅಳತೆಯನುು ಪೆೈಥಾಗೆ ೋರಸ್‌ ಪ್ಿಮೋಯದ ಮ ಲಕ ಕಂಡುಹಿಡಿಯುವಿಕ್ೆ.(4m) 

2. ABD ಮತ್ುು ACD ತ್ರಿಭುಜಗಳಿಗೆ ತ್ರಿಕ್ೆ ೋನಮಿತ್ರ ಅನುಪಾತ್ಗಳ ಕಂಡುಹಿಡಿಯುವಿಕ್ೆ.  (4m) 

3. PQS ಮತ್ುು PRS ತ್ರಿಭುಜಗಳಿಗೆ ತ್ರಿಕ್ೆ ೋನಮಿತ್ರ ಅನುಪಾತ್ಗಳ ಕಂಡುಹಿಡಿಯುವಿಕ್ೆ.  (4m) 

4. . ಚರ್ೆೆ ಅಥವಾ ಮಂಡನೆಯಲಿ್ಲ ಭಾಗವಹಿಸುವಿಕ್ೆ.       (3m) 

      

6. ಈ ತ್ರಿಭುಜಕೆೆ ಅನವಯಿಸುವಂತೆ ಕೆಳಗಿನ ಕೆ ೋಷ್ಟಕವನುನ ಭತ್ರಿ ಮಲಡಿ. 

 

 

Table - 1 

tan2A= sin2C= 9cos2A= 2sinA= 

1+cos2C= 1 - sin2A= 3cot3A= sec2A= 

SinA x cos C= sin2A x cos2C = cosec2A=                  √5  

cosA= 

tanA x cotC= 4cosec2A= tan2A= 3cotA= 
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2.  ಈ ತ್ರಿಭುಜಕ್ೆೆ ಅನವಯಿಸುವಂತೆ ಕ್ೆಳಗಿನ ಕ್ೆ ೋಷ್ಟಕವನುು ಭತ್ರೆ ಮಾಡಿ. 

 

 

     

  

 

Table - 2 

sin2A= 2tanA= 𝑠𝑖𝑛2A

cos2𝐶
= 1+ cosec2A = 

3sin2A= cot2A= 1 – cot2A= 1 + sin A

1 − 𝑠𝑖𝑛 𝐴
 

cos2A= 3cot2A= 1 - 
sin A

𝑐𝑜𝑠 𝐴
 = sin2A + cos2A = 

tan2A= 𝑐𝑜𝑠2C

cot2𝐴
= 

cos A

𝑡𝑎𝑛 𝐶
 = cosec2 C = 

3.  ಕ್ೆಳಗಿನ ಕ್ೆ ೋಷ್ಟಕದಲ್ಲಿನ ಅಂಕಣಗಳನುು ಸ ಕು ಬೆಲೆಗಳ ೆಂದಿಗೆ ಭತ್ರೆಗೆ ಳಿಸಿ.                                    

   Table - 3 

sin2600= Cot 00xtan900= Sin300 + Sin600= 3sin2450= 

2 - cos2900= Sin3300= sin600

𝑐𝑜𝑠 300
 

Cosec450 - 

cot2600= 

sinA x cosC= 1 – tan450= cot3450 = sin2600

𝑐𝑜𝑠2 600
 

tanA x cotC= 1−𝑠𝑖𝑛230

1−𝑐𝑜𝑠230
 = cosec290 = tan2450= 

ಮಾನಕಗಳು 

1. ಕ್ೆ ೋಷ್ಟಕ-1 ರ ಭತ್ರೆಯಲಿ್ಲ ನಿಖರತೆ.     (3m) 

2. ಕ್ೆ ೋಷ್ಟಕ-2 ರ ಭತ್ರೆಯಲಿ್ಲ ನಿಖರತೆ.     (3m) 

3. ಕ್ೆ ೋಷ್ಟಕ-3 ರ ಭತ್ರೆಯಲಿ್ಲ ನಿಖರತೆ.     (3m) 

4. ಬೆಲೆಗಳನುು ಕಂಡುಹಿಡಿಯುವ ಅಭಾಾಸ ಹಾಳ  ೆ(ಸವಂತ್ರಕ್ೆ ಪ್ರೋಕ್ಷೆಗಾಗಿ).    (3m) 

5. ಹಂತ್ಗಳನುು ಪಾಲ್ಲಸುವಿಕ್ೆಯಲಿ್ಲ ಪ್ೂಣೆತೆ, ಚರ್ೆೆ ಅಥವಾ ಮಂಡನೆಯಲಿ್ಲ ಭಾಗವಹಿಸುವಿಕ್ೆ. (3m) 
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